Solve the following query?

1. How many electrons occupy the bonding molecular orbitals of a CN triple bond?
A) 2     B) 4     C) 6     D) 8   

2. Which of the following species is not amphoteric ?
A) NH3     B) HF     C) NH4(+)     D) HCO3(-)   

3 What is the relationship of the two structures shown below? 
[image: ]
A) they are identical. 
B) they are conformations of the same structure
C) they are constitutional isomers.
D) they are different compounds with different compositions 

4 Which of the following molecules will not have a dipole moment?
A) CH3Cl
B) CH3OCH3
C) CH2Cl2
D) CCl4 

5 Which of the following molecules has a dipole moment?
A) CBr4
B) CH2=CH2
C) BF3
D) SO2 
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